2 (600) At==2 g (610) 2=+
Ng : (611) A2 = (01)H8E (&t - &)
B‘i é*kllé*-j wew | LNa| B2

E Al 12,149,208 | 14,124,740| ~1,975,632
600 A== 9,785,198 8,577,090 1,208,108
610 S 8,409,948 7,506,090 903,858
611 AMBE=9 7,643,218 6,783,169 860,049
01 Jt3= 3,672,703 3,223,699 449,004

OIEE dxZAEE =Y 3,403,680

- 1CHAl 800& x280,000=x12& = 2,688,000

- 2 1,020 x23,000E x12& = 281,520

- 3CHAl 1,340 x27,000E%x12& = 434,160

O 738 U=+ 269,023

— 13mm 870&x21,7008 x12& = 226,548

— 20mm 2,430& x195&8 x12& = 5,686

— 25mm 3,920 x2158 x12& = 10,113

— 32mm 7,000 X668 x 128 = 5,544

— 40mm 11,7503 X258 x 128 = 3,525

— 50mm 17,8403 X208 x12& = 4,281

— 75mm 43,6903 x22& x12& = 11,5634

= 100mm 74,6703 x28 x 128 = 1,792
03 gEt= 3,714,682 3,357,827 356,855

O gt dxZAEs =Y 3,621,000

- 1 990& x58,000=x 128 = 689,040

- 2 1,190& x19,000E x12& = 271,320

- 3CHAl 1,400& x25,000E%x12& = 420,000

- 4CHH| 1,580& x36,500=%x12& = 692,040

= 1,780&x72,500Ex12& = 1,548,600

O 728 Jdes =Y 93,682

— 13mm 870&x2,5508 x 128 = 26,622

— 20mm 2,430@ x3508 x 12& = 10,206

— 25mm 3,920 x2708 x12& = 12,700

— 32mm 7,0003 %858 x12& = 7,140

= 40mm 11,7503 X558 x 128 = 7,755

— 50mm 17,8403 X448 x 128 = 9,419

— 75mm 43,6903 X258 x12& = 13,107




2 (600) Abeiol S ¢ (610) Feixol
Mg (611) ABE 4l = . (03) Qe CEEEE)
= = o g | EE = <o
5w AE s e

= 100mm 74,6703 x18x128 = 896

— 150mm 162,1603 x3&8 x12& = 5,837
04 U=EEs 15,743 8,033 7,710

OUHEESE AT AIEE = 15,054

- 1C+H 1,280 x500Ex 128 = 7,680

- 2G| 1,540 x100Ex 128 = 1,848

- 3EHH 1,7903 x200Ex12& = 4,296

— 4CHH 2,0503 x50Ex12& = 1,230

O F&E ddeadr 689

— 13mm 8703 x38x12& = 31

— 25mm 3,920@ x5&8 x 128 = 235

— 40mm 11,7503 x3&8 x 128 = 423
05 (¢dPISHE 240,090 193,610 46,480

O SgsS AT ASE ¢ 560& x35,000Ex12& = 235,200

O FZE dNeadr 4,890

— 20mm 2,430 x18x12& = 29

- 32mm 7,000 x38x12& = 252

— 40mm 11,7503 x2&8 x12& = 282

— 50mm 17,8403 x 18 x 128 = 214

— 75mm 43,690@ x 18 x128 = 524

= 100mm 74,6703 x18x12& = 896

— 200mm 224,4903 x1 &8 x12& = 2,693
612 S =A< 760,700 711,500 49,200
01 M3 AY 760,700 711,500 49,200

O Meln 7 525,000

— 13mm 700,000& x400& = 280,000

— 20mm 2,000,000& x50& = 100,000

— 25mm 2,000,000& x30& = 60,000

— 32mm 2,500,000& x10& = 25,000

— 50mm 6,000,000 x10& = 60,000

O o2 35,700

— 13mm 210,000& x170& = 35,700

Ojrlra2 g X 200,000,000& = 200,000
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B (100) HHERA s ¢ (170) H=EA0ITA
Mgt s (171) NaEEa LY 2 (01) AlEEg24 CEEEE)
= = o ae | EE = =g
2848 = O & =
100 Ar=2&2 1,764,010 3,647,650 21,883,640
170 A= 2+ 1,764,010 3,647,650 1,883,640
171 ANEE2EZ2+Y 244,010 227,650 16,360
01 AN&E2Eg322Y 244,010 227,650 16,360
Otz 220,550
- ®13mm 230,000& x400& = 92,000
- ®20mm 643,000& x50 = 32,150
— ®25mm 1,033,000& x30& = 30,990
- ®32mm 1,836,000& x10& = 18,360
- ®50mm 4,705,000& x10& = 47,050
O o2 23,460
- ®13mm 138,000&@ x170& = 23,460
173 Bl HAHEEEZS 5 1,520,000 3,420,000 21,900,000
02 EFHAEEXZ24+L 1,520,000 3,420,000 21,900,000
O LBt HAY S 1,520,000
- A 22 SHAS 300,000,000& = 300,000
- FEHUI(Hs-HE, ST =22 EXIAS
400,000,000& = 400,000
- 01&D|Y AT AXIAS 100,000,000& = 100,000
- JZMELZIIR =E2) |2 HZAIY 20,000,000& = 20,000
- ZGHeXl LHE B2 Z2AH 500,000,000& = 500,000
- & E MRS oY XRAS 200,000,000& = 200,000




2 ¢ (900) 0122 g 0 (910) 0143
Mg (911) 0123 = : (01) 0122 CLEEE)
) =]
i T g = wew | LNa| B2
900 OlI&E=3 600,000 1,900,000| 41,300,000
910 Ol== 200,000 200,000 0
911 DI=32 200,000 200,000 0
01 DI=2 200,000 200,000 0
O Ol=3 200,000,000& = 200,000
920 0l1&3 400,000 1,700,000| 21,300,000
921 Ol&3 400,000 1,700,000| 21,300,000
02 =AMAHLNH= 400,000 0 400,000
O =MALHZ 400,000,000& = 400,000




